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Rovo said; the mistake is according to the sharpness, etc.

OVERVIEW

X 92 °»7 queried whether a husband who borrows from his wife’s %% 021 is
considered a ?XW or a w"w. This indicates that under certain circumstances (X" or
1°01R) the husband is liable for his wife’s 21%1 *021. To which X271 responded 2197
Xnwaw xo7m; that he is not liable since it is 2°2v22 a°kw. Our NMdOIN discusses
another refutation to Xnm 72 7.
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X27 could have asked on r1""27 from the 71w in 739X 299 in NR2° NooN -
= 25¥an NMINNRA DN NNAYN 11D 1NN INND ON MY Y093 )InT

For the mwn states there regarding a» o321, that if they depreciated, she suffers

the depreciation; indicating that the husband is not liable for the 219» >021 -
= 37999 NOYTYT NOHN

However, X271 asks a better question.

moon offers an alternate explanation why the X3 did not ask from nn2a:
= 1799V 110 VYNPNIY fYPIP RNPIND NION 1NN NI 993 ON

Or you may also say; that we can establish that mw» by ppap,® which is

excluded from the rules of watchmen -
= 725WN 139N 99V 99 yaw) 1N DIN IV (8, 97 5 ANTNA 9NTD

! The mwn there states 72 1 ANA OR N7 272 (not 72 1A 1A oX). The man may use the assets that the woman
brings into the marriage (like slaves for instance). If the slaves died (or lost their value) it is her loss; meaning that
the husband when he divorces her is not liable to pay her the loss of value. [This is in contrast to 7772 1R 021 where
the husband guarantees her the initial agreed upon value of the assets she brings into the marriage; in this case if
they appreciate, the husband receives the profit and if they depreciate the husband suffers the loss.]
2 How can n"21 ask whether he is liable as a w"w or as a ?XW, since the mwn states he is not liable for any loss at all.
See ‘Thinking it over’ # 1.
3 See ‘Thinking it over’ # 2.
41t seems that n19o1n had the X071 in N2> as 121 10MD aX but not 1 oX (see footnote # 1), for how could we say 1Nn
by ypap. See w"wA. Alternately 'o1n may mean 0°72¥ (see footnote # 1) which are also exempt from 72w °1>7 (since
mypaps Wwpn).
> However by 72u%un, we may have thought that he is liable; were it not for the fact that it is 2°7v22 72°XWw as X2
states.
6 If a "W was given vpap (fruits, or 0°72y) to watch, and there was damage; the n"w does not need to swear,
additionally the w"w does not need to pay. See mw 7"7 2,11 2°¥ '0In that they are wd even from 7y°wd.
7 See the X3 on 1,71 that we derive this from a %921 v791 993, which is written both by a w"w1 n"w , which excludes
anything which is not 177 1911 20501 (i.e. MYPIPY MY and NMYPIP? WnRw 0°7ay).
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As the mwn states in 2737 P79 regarding ypap that a n""w does not swear and a
w'"w does not pay -

$D999 NP 199N NPT INNIN TIND INY? 9917 SINIY P11 NI
And, concludes N0, the same rule applies to a YW that he is exempt from
paying by vpap, for the P05 of »Nw> 921 is referencing this which was being
discussed previously in the 252102, namely the P7u%0n by a n"w and w"w.

SUMMARY
The &1 could have asked from nn2 but chose to ask better, or we can establish
the mwn there by ¥p p where there is no 1w 21°77.

THINKING IT OVER

1. moon proves from 7% 119 NMD oX that the husband is not liable as either a PXWw
or a w"w.!"” However one can argue that he is liable, and when the m1wn states X
7% .nnd 1nno, that is only when the value of the assets decreased because of market
fluctuation, but not if the husband caused the loss (by his lack of diligence), when
he is either using or watching the item, where he will be 211 by either X" (as a
w"Ww) or even PONKX (as a oxw).!!

2. npon first answer is 7" X9°7v.!2 Did 'oin understand in his X" that the
question from NM2’ is stronger, if so we need to explain the difference between the
X" and the X3pon, and if not, so why bring it up at all?

8 Seemingly by 7% there is no such 9931 1791 993 (see footnote # 7), so perhaps the ?Xw 7 apply even to ypp
(o72w).

° The P10 of ?x1 follows immediately after the nPw1d of w"wn n"w. The HRw> *21 (with a 1") is to be understood to
mean that if he borrows any of the items mentioned previously by a w"w n"w, he has the rules of a Hxw, but not if
he borrows (2°7237) NMwpPIp; in that case there is no 77°RW 1°7 at all,

10'See footnote # 2.

' See mon »1wn.

12 See footnote # 3
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